

A MATRIX APPLICATION OF POWER INCREASING SEQUENCES TO INFINITE SERIES AND FOURIER SERIES

МАТРИЧНЕ ЗАСТОСУВАННЯ ЗРОСТАЮЧИХ СТЕПЕНЕВИХ ПОСЛІДОВНОСТЕЙ ДО НЕСКІНЧЕННИХ РЯДІВ І РЯДІВ ФУР'Є

The aim of the paper is a generalization, under weaker conditions, of the main theorem on quasi- σ -power increasing sequences applied to $|A, \theta_n|_k$ summability factors of infinite series and Fourier series. We obtain some new and known results related to basic summability methods.

Метою даної роботи є узагальнення основної теореми про застосування зростаючих квазі- σ -степеневих послідовностей до коефіцієнтів підсумовування $|A, \theta_n|_k$ нескінченних рядів і рядів Фур'є при слабших умовах. Отримано деякі нові та відомі результати, що відносяться до базових методів підсумовування.

1. Introduction.

Definition 1.1. A positive sequence (b_n) is said to be an almost increasing sequence if there exists a positive increasing sequence (c_n) and two positive constants M and N such that $Mc_n \leq b_n \leq Nc_n$ (see [1]).

Definition 1.2. A positive sequence (X_n) is said to be quasi- σ -power increasing sequence if there exists a constant $K = K(\sigma, X) \geq 1$ such that $Kn^\sigma X_n \geq m^\sigma X_m$ for all $n \geq m \geq 1$.

Every almost increasing sequence is a quasi- σ -power increasing sequence for any nonnegative σ , but the converse is not true for $\sigma > 0$ (see [13]). For any sequence (λ_n) we write that $\Delta^2 \lambda_n = \Delta \lambda_n - \Delta \lambda_{n+1}$ and $\Delta \lambda_n = \lambda_n - \lambda_{n+1}$.

Definition 1.3. The sequence (λ_n) is said to be of bounded variation, denoted by $(\lambda_n) \in \mathcal{BV}$, if $\sum_{n=1}^{\infty} |\Delta \lambda_n| < \infty$.

Let $\sum a_n$ be a given infinite series with the partial sums (s_n) . By u_n^α and t_n^α we denote the n th Cesàro means of order α , with $\alpha > -1$, of the sequence (s_n) and (na_n) , respectively, that is (see [8])

$$u_n^\alpha = \frac{1}{A_n^\alpha} \sum_{v=0}^n A_{n-v}^{\alpha-1} s_v \quad \text{and} \quad t_n^\alpha = \frac{1}{A_n^\alpha} \sum_{v=0}^n A_{n-v}^{\alpha-1} v a_v,$$

where

$$A_n^\alpha = \frac{(\alpha+1)(\alpha+2)\dots(\alpha+n)}{n!} = O(n^\alpha), \quad A_{-n}^\alpha = 0 \quad \text{for} \quad n > 0.$$

Definition 1.4. The series $\sum a_n$ is said to be summable $|C, \alpha|_k$, $k \geq 1$, if (see [10, 12])

$$\sum_{n=1}^{\infty} n^{k-1} |u_n^\alpha - u_{n-1}^\alpha|^k = \sum_{n=1}^{\infty} \frac{1}{n} |t_n^\alpha|^k < \infty.$$

If we take $\alpha = 1$, then $|C, \alpha|_k$ summability reduces to $|C, 1|_k$ summability. Let (p_n) be a sequence of positive real numbers such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty \quad \text{as } n \rightarrow \infty \quad (P_{-i} = p_{-i} = 0, \quad i \geq 1).$$

The sequence-to-sequence transformation

$$w_n = \frac{1}{P_n} \sum_{v=0}^n p_v s_v$$

defines the sequence (w_n) of the Riesz mean or simply the (\bar{N}, p_n) mean of the sequence (s_n) generated by the sequence of coefficients (p_n) (see [11]).

Definition 1.5. The series $\sum a_n$ is said to be summable $|\bar{N}, p_n|_k$, $k \geq 1$, if (see [2])

$$\sum_{n=1}^{\infty} \left(\frac{P_n}{p_n} \right)^{k-1} |w_n - w_{n-1}|^k < \infty.$$

In the special case when $p_n = 1$ for all values of n (resp., $k = 1$), $|\bar{N}, p_n|_k$ summability is the same as $|C, 1|_k$ (resp., $|\bar{N}, p_n|$) summability.

2. Known results. The following theorem is dealing with $|\bar{N}, p_n|_k$ summability factors of infinite series under weaker conditions.

Theorem 2.1 [7]. Let (X_n) be a quasi- σ -power increasing sequence. If the sequences (X_n) , (λ_n) and (p_n) satisfy the conditions

$$\lambda_m X_m = O(1) \quad \text{as } m \rightarrow \infty, \quad (2.1)$$

$$\sum_{n=1}^m n X_n |\Delta^2 \lambda_n| = O(1) \quad \text{as } m \rightarrow \infty, \quad (2.2)$$

$$\sum_{n=1}^m \frac{P_n}{n} = O(P_m), \quad (2.3)$$

$$\sum_{n=1}^m \frac{p_n}{P_n} \frac{|t_n|^k}{X_n^{k-1}} = O(X_m) \quad \text{as } m \rightarrow \infty, \quad (2.4)$$

$$\sum_{n=1}^m \frac{|t_n|^k}{n X_n^{k-1}} = O(X_m) \quad \text{as } m \rightarrow \infty, \quad (2.5)$$

then the series $\sum a_n \lambda_n$ is summable $|\bar{N}, p_n|_k$, $k \geq 1$.

3. An application of absolute matrix summability to infinite series. Let $A = (a_{nv})$ be a normal matrix, i.e., a lower triangular matrix of nonzero diagonal entries. Then A defines the sequence-to-sequence transformation, mapping the sequence $s = (s_n)$ to $As = (A_n(s))$, where

$$A_n(s) = \sum_{v=0}^n a_{nv} s_v, \quad n = 0, 1, \dots$$

Definition 3.1. Let (θ_n) be any sequence of positive real numbers. The series $\sum a_n$ is said to be summable $|A, \theta_n|_k$, $k \geq 1$, if (see [14, 15])

$$\sum_{n=1}^{\infty} \theta_n^{k-1} |\bar{\Delta}A_n(s)|^k < \infty,$$

where

$$\bar{\Delta}A_n(s) = A_n(s) - A_{n-1}(s).$$

If we take $\theta_n = \frac{P_n}{p_n}$, then we obtain $|A, p_n|_k$ summability (see [16]), and if we take $\theta_n = n$, then we have $|A|_k$ summability (see [18]). Also, if we take $\theta_n = \frac{P_n}{p_n}$ and $a_{nv} = \frac{p_v}{P_n}$, then we have $|\bar{N}, p_n|_k$ summability. Furthermore, if we take $\theta_n = n$, $a_{nv} = \frac{p_v}{P_n}$ and $p_n = 1$ for all values of n , then $|A, \theta_n|_k$ summability reduces to $|C, 1|_k$ summability (see [10]). Finally, if we take $\theta_n = n$ and $a_{nv} = \frac{p_v}{P_n}$, then we obtain $|R, p_n|_k$ summability (see [3]).

4. Main results. The Fourier series play an important role in many areas of applied mathematics and mechanics. Recently some papers have been done concerning absolute matrix summability of infinite series and Fourier series (see [5, 6, 19–21]). The aim of this paper is to generalize Theorem 2.1 for $|A, \theta_n|_k$ summability method for these series.

Given a normal matrix $A = (a_{nv})$, we associate two lower semimatrices $\bar{A} = (\bar{a}_{nv})$ and $\hat{A} = (\hat{a}_{nv})$ as follows:

$$\bar{a}_{nv} = \sum_{i=v}^n a_{ni}, \quad n, v = 0, 1, \dots,$$

and

$$\hat{a}_{00} = \bar{a}_{00} = a_{00}, \quad \hat{a}_{nv} = \bar{a}_{nv} - \bar{a}_{n-1,v}, \quad n = 1, 2, \dots$$

It may be noted that \bar{A} and \hat{A} are the well-known matrices of series-to-sequence and series-to-series transformations, respectively. Then we have

$$A_n(s) = \sum_{v=0}^n a_{nv}s_v = \sum_{v=0}^n \bar{a}_{nv}a_v \tag{4.1}$$

and

$$\bar{\Delta}A_n(s) = \sum_{v=0}^n \hat{a}_{nv}a_v. \tag{4.2}$$

Using this notation we have the following theorem.

Theorem 4.1. Let $k \geq 1$ and $A = (a_{nv})$ be a positive normal matrix such that

$$\bar{a}_{n0} = 1, \quad n = 0, 1, \dots, \tag{4.3}$$

$$a_{n-1,v} \geq a_{nv} \quad \text{for } n \geq v + 1, \quad (4.4)$$

$$\sum_{v=1}^{n-1} \frac{1}{v} \hat{a}_{n,v+1} = O(a_{nn}). \quad (4.5)$$

Let (X_n) be a quasi- σ -power increasing sequence and let $(\theta_n a_{nn})$ be a non increasing sequence. If the sequences (X_n) , (λ_n) and (p_n) satisfy the conditions (2.1)–(2.3) of Theorem 2.1, and

$$\sum_{n=1}^m \theta_n^{k-1} a_{nn}^k \frac{|t_n|^k}{X_n^{k-1}} = O(X_m) \quad \text{as } m \rightarrow \infty, \quad (4.6)$$

$$\sum_{n=1}^m (\theta_n a_{nn})^{k-1} \frac{|t_n|^k}{n X_n^{k-1}} = O(X_m) \quad \text{as } m \rightarrow \infty, \quad (4.7)$$

then the series $\sum a_n \lambda_n$ is summable $|A, \theta_n|_k$, $k \geq 1$.

It may be remarked that if we take $A = (\bar{N}, p_n)$ and $\theta_n = \frac{P_n}{p_n}$, then the conditions (4.6), (4.7) are reduced to (2.4), (2.5). Also, the condition (4.5) satisfied by condition (2.3). Therefore, we have Theorem 2.1.

We need the following lemmas for the proof of our theorem.

Lemma 4.1 [17]. *From the conditions (4.3) and (4.4) of Theorem 4.1, we have*

$$\sum_{v=0}^{n-1} |\bar{\Delta} a_{nv}| \leq a_{nn},$$

$$\hat{a}_{n,v+1} \geq 0,$$

$$\sum_{n=v+1}^{m+1} \hat{a}_{n,v+1} = O(1).$$

Lemma 4.2 [4]. *Under the conditions of Theorem 2.1 we have that*

$$n X_n |\Delta \lambda_n| = O(1) \quad \text{as } n \rightarrow \infty,$$

$$\sum_{n=1}^{\infty} X_n |\Delta \lambda_n| < \infty.$$

Proof of Theorem 4.1. Let (I_n) denotes the A -transform of the series $\sum_{n=1}^{\infty} a_n \lambda_n$. Then, by (4.1) and (4.2), we have

$$\bar{\Delta} I_n = \sum_{v=1}^n \hat{a}_{nv} a_v \lambda_v.$$

Applying Abel's transformation to this sum, we obtain

$$\bar{\Delta} I_n = \sum_{v=1}^n \hat{a}_{nv} a_v \lambda_v \frac{v}{v} = \sum_{v=1}^{n-1} \Delta \left(\frac{\hat{a}_{nv} \lambda_v}{v} \right) \sum_{r=1}^v r a_r + \frac{\hat{a}_{nn} \lambda_n}{n} \sum_{r=1}^n r a_r =$$

$$\begin{aligned}
 &= \sum_{v=1}^{n-1} \Delta \left(\frac{\hat{a}_{nv} \lambda_v}{v} \right) (v+1)t_v + \hat{a}_{nn} \lambda_n \frac{n+1}{n} t_n = \\
 &= \sum_{v=1}^{n-1} \bar{\Delta} a_{nv} \lambda_v t_v \frac{v+1}{v} + \sum_{v=1}^{n-1} \hat{a}_{n,v+1} \Delta \lambda_v t_v \frac{v+1}{v} + \sum_{v=1}^{n-1} \hat{a}_{n,v+1} \lambda_{v+1} \frac{t_v}{v} + a_{nn} \lambda_n t_n \frac{n+1}{n} = \\
 &= I_{n,1} + I_{n,2} + I_{n,3} + I_{n,4}.
 \end{aligned}$$

To complete the proof of Theorem 4.1, by Minkowski’s inequality, it is sufficient to show that

$$\sum_{n=1}^{\infty} \theta_n^{k-1} |I_{n,r}|^k < \infty \quad \text{for } r = 1, 2, 3, 4.$$

First, by applying Hölder’s inequality with indices k and k' , where $k > 1$ and $\frac{1}{k} + \frac{1}{k'} = 1$, we get

$$\begin{aligned}
 \sum_{n=2}^{m+1} \theta_n^{k-1} |I_{n,1}|^k &\leq \sum_{n=2}^{m+1} \theta_n^{k-1} \left\{ \sum_{v=1}^{n-1} \left| \frac{v+1}{v} \right| |\bar{\Delta} a_{nv}| |\lambda_v| |t_v| \right\}^k = \\
 &= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} \sum_{v=1}^{n-1} |\bar{\Delta} a_{nv}| |\lambda_v|^k |t_v|^k \left\{ \sum_{v=1}^{n-1} |\bar{\Delta} a_{nv}| \right\}^{k-1}.
 \end{aligned}$$

By using

$$\Delta \hat{a}_{nv} = \hat{a}_{nv} - \hat{a}_{n,v+1} = \bar{a}_{nv} - \bar{a}_{n-1,v} - \bar{a}_{n,v+1} + \bar{a}_{n-1,v+1} = a_{nv} - a_{n-1,v},$$

and (4.3) and (4.4), we have

$$\begin{aligned}
 \sum_{v=1}^{n-1} |\bar{\Delta} a_{nv}| &= \sum_{v=1}^{n-1} |a_{nv} - a_{n-1,v}| = \sum_{v=1}^{n-1} (a_{n-1,v} - a_{nv}) = \\
 &= \sum_{v=0}^{n-1} a_{n-1,v} - a_{n-1,0} - \sum_{v=0}^n a_{nv} + a_{n0} + a_{nn} = \\
 &= 1 - a_{n-1,0} - 1 + a_{n0} + a_{nn} \leq a_{nn}.
 \end{aligned}$$

By using $\sum_{n=v+1}^{m+1} |\bar{\Delta} a_{nv}| \leq a_{vv}$, we obtain

$$\begin{aligned}
 \sum_{n=2}^{m+1} \theta_n^{k-1} |I_{n,1}|^k &= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} a_{nn}^{k-1} \left\{ \sum_{v=1}^{n-1} |\bar{\Delta} a_{nv}| |\lambda_v|^k |t_v|^k \right\} = \\
 &= O(1) \sum_{v=1}^m |\lambda_v|^{k-1} |\lambda_v| |t_v|^k \sum_{n=v+1}^{m+1} (\theta_n a_{nn})^{k-1} |\bar{\Delta} a_{nv}| = \\
 &= O(1) \sum_{v=1}^m (\theta_v a_{vv})^{k-1} |\lambda_v|^{k-1} |\lambda_v| |t_v|^k \sum_{n=v+1}^{m+1} |\bar{\Delta} a_{nv}| =
 \end{aligned}$$

$$\begin{aligned}
&= O(1) \sum_{v=1}^m (\theta_v a_{vv})^{k-1} \frac{1}{X_v^{k-1}} |\lambda_v| |t_v|^k a_{vv} = \\
&= O(1) \sum_{v=1}^{m-1} \Delta |\lambda_v| \sum_{r=1}^v \theta_r^{k-1} a_{rr}^k \frac{|t_r|^k}{X_r^{k-1}} + O(1) |\lambda_m| \sum_{v=1}^m \theta_v^{k-1} a_{vv}^k \frac{|t_v|^k}{X_v^{k-1}} = \\
&= O(1) \sum_{v=1}^{m-1} |\Delta \lambda_v| X_v + O(1) |\lambda_m| X_m = O(1) \quad \text{as } m \rightarrow \infty,
\end{aligned}$$

by virtue of the hypotheses of Theorem 4.1, Lemmas 4.1 and 4.2. Also, we have

$$\begin{aligned}
&\sum_{n=2}^{m+1} \theta_n^{k-1} |I_{n,2}|^k \leq \sum_{n=2}^{m+1} \theta_n^{k-1} \left\{ \sum_{v=1}^{n-1} \left| \frac{v+1}{v} \right| |\hat{a}_{n,v+1}| |\Delta \lambda_v| |t_v| \right\}^k = \\
&= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} \left\{ \sum_{v=1}^{n-1} \hat{a}_{n,v+1} |\Delta \lambda_v| |t_v| \frac{X_v}{X_v} \right\}^k = \\
&= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} \left\{ \sum_{v=1}^{n-1} \hat{a}_{n,v+1} |\Delta \lambda_v| X_v \frac{1}{X_v^k} |t_v|^k \right\} \left\{ \sum_{v=1}^{n-1} \hat{a}_{n,v+1} |\Delta \lambda_v| X_v \right\}^{k-1} = \\
&= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} a_{nn}^{k-1} \left\{ \sum_{v=1}^{n-1} \hat{a}_{n,v+1} |\Delta \lambda_v| X_v \frac{1}{X_v^k} |t_v|^k \right\} \left\{ \sum_{v=1}^{m-1} |\Delta \lambda_v| X_v \right\}^{k-1} = \\
&= O(1) \sum_{v=1}^m v |\Delta \lambda_v| \frac{1}{X_v^{k-1}} \frac{1}{v} |t_v|^k \sum_{n=v+1}^{m+1} (\theta_n a_{nn})^{k-1} \hat{a}_{n,v+1} = \\
&= O(1) \sum_{v=1}^m (\theta_v a_{vv})^{k-1} v |\Delta \lambda_v| \frac{1}{X_v^{k-1}} \frac{1}{v} |t_v|^k \sum_{n=v+1}^{m+1} \hat{a}_{n,v+1} = \\
&= O(1) \sum_{v=1}^m v (\theta_v a_{vv})^{k-1} |\Delta \lambda_v| \frac{1}{v X_v^{k-1}} |t_v|^k = \\
&= O(1) \sum_{v=1}^{m-1} \Delta (v |\Delta \lambda_v|) \sum_{r=1}^v (\theta_r a_{rr})^{k-1} \frac{|t_r|^k}{r X_r^{k-1}} + O(1) m |\Delta \lambda_m| \sum_{r=1}^m (\theta_r a_{rr})^{k-1} \frac{|t_r|^k}{r X_r^{k-1}} = \\
&= O(1) \sum_{v=1}^{m-1} |\Delta (v |\Delta \lambda_v|)| X_v + O(1) m |\Delta \lambda_m| X_m = \\
&= O(1) \sum_{v=1}^{m-1} v X_v |\Delta^2 \lambda_v| + O(1) \sum_{v=1}^{m-1} X_v |\Delta \lambda_v| + O(1) m |\Delta \lambda_m| X_m = \\
&= O(1) \quad \text{as } m \rightarrow \infty,
\end{aligned}$$

by virtue of the hypotheses of Theorem 4.1, Lemmas 4.1 and 4.2.

Furthermore, as in $I_{n,1}$, we get

$$\begin{aligned} \sum_{n=2}^{m+1} \theta_n^{k-1} |I_{n,3}|^k &\leq \sum_{n=2}^{m+1} \theta_n^{k-1} \left\{ \sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\lambda_{v+1}| \frac{|t_v|}{v} \right\}^k = \\ &= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} \left\{ \sum_{v=1}^{n-1} |\hat{a}_{n,v+1}| |\lambda_{v+1}|^k \frac{|t_v|^k}{v} \right\} \left\{ \sum_{v=1}^{n-1} \frac{1}{v} \hat{a}_{n,v+1} \right\}^{k-1} = \\ &= O(1) \sum_{n=2}^{m+1} \theta_n^{k-1} a_{nn}^{k-1} \sum_{v=1}^{n-1} |\lambda_{v+1}| |\lambda_{v+1}|^{k-1} \frac{|t_v|^k}{v} \hat{a}_{n,v+1} = \\ &= O(1) \sum_{v=1}^m \frac{|t_v|^k}{v} \frac{1}{X_v^{k-1}} |\lambda_{v+1}| \sum_{n=v+1}^{m+1} (\theta_n a_{nn})^{k-1} \hat{a}_{n,v+1} = \\ &= O(1) \sum_{v=1}^m (\theta_v a_{vv})^{k-1} \frac{|t_v|^k}{v} \frac{1}{X_v^{k-1}} |\lambda_{v+1}| \sum_{n=v+1}^{m+1} \hat{a}_{n,v+1} = \\ &= O(1) \sum_{v=1}^m (\theta_v a_{vv})^{k-1} \frac{1}{X_v^{k-1}} |\lambda_{v+1}| \frac{|t_v|^k}{v} = \\ &= O(1) \quad \text{as } m \rightarrow \infty, \end{aligned}$$

by virtue of the hypotheses of Theorem 4.1, Lemmas 4.1 and 4.2.

Again, as in $I_{n,1}$, we obtain

$$\begin{aligned} \sum_{n=1}^m \theta_n^{k-1} |I_{n,4}|^k &= O(1) \sum_{n=1}^m \theta_n^{k-1} a_{nn}^k |\lambda_n|^k |t_n|^k = O(1) \sum_{n=1}^m \theta_n^{k-1} a_{nn}^k |\lambda_n|^{k-1} |\lambda_n| |t_n|^k = \\ &= O(1) \sum_{n=1}^m \theta_n^{k-1} a_{nn}^k \frac{1}{X_n^{k-1}} |\lambda_n| |t_n|^k = O(1) \quad \text{as } m \rightarrow \infty, \end{aligned}$$

by virtue of hypotheses of the Theorem 4.1, Lemmas 4.1 and 4.2.

Theorem 4.1 is proved.

5. An application of absolute matrix summability to Fourier series. Let f be a periodic function with period 2π and integrable (L) over $(-\pi, \pi)$. Without any loss of generality the constant term in the Fourier series of f can be taken to be zero, so that

$$f(x) \sim \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) = \sum_{n=1}^{\infty} C_n(x),$$

where

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx, \quad a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos(nx) dx, \quad b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin(nx) dx.$$

We write

$$\phi(t) = \frac{1}{2} \{f(x+t) + f(x-t)\},$$

$$\phi_\alpha(t) = \frac{\alpha}{t^\alpha} \int_0^t (t-u)^{\alpha-1} \phi(u) du, \quad \alpha > 0.$$

It is well-known that if $\phi_1(t) \in \mathcal{BV}(0, \pi)$, then $t_n(x) = O(1)$, where $t_n(x)$ is the $(C, 1)$ mean of the sequence $(nC_n(x))$ (see [9]).

Using this fact, Bor has obtained the following main result dealing with the trigonometric Fourier series.

Theorem 5.1 [7]. *Let (X_n) be a quasi- σ -power increasing sequence. If $\phi_1(t) \in \mathcal{BV}(0, \pi)$ and the sequences (p_n) , (λ_n) , and (X_n) satisfy the conditions of Theorem 2.1, then the series $\sum C_n(x)\lambda_n$ is summable $|\bar{N}, p_n|_k$, $k \geq 1$.*

By using the above theorem, we have obtained the following result for $|A, \theta_n|_k$ summability.

Theorem 5.2. *Let A be a positive normal matrix satisfying the conditions of Theorem 4.1. Let (X_n) be a quasi- σ -power increasing sequence. If $\phi_1(t) \in \mathcal{BV}(0, \pi)$ and the sequences (p_n) , (λ_n) , and (X_n) satisfy the conditions of Theorem 4.1, then the series $\sum C_n(x)\lambda_n$ is summable $|A, \theta_n|_k$, $k \geq 1$.*

6. Applications. We can apply Theorems 4.1 and 5.2 to the weighted mean in which $A = (a_{nv})$ is defined as $a_{nv} = \frac{p_v}{P_n}$ when $0 \leq v \leq n$, where $P_n = p_0 + p_1 + \dots + p_n$. We have

$$\bar{a}_{nv} = \frac{P_n - P_{v-1}}{P_n} \quad \text{and} \quad \hat{a}_{n,v+1} = \frac{p_n P_v}{P_n P_{n-1}}.$$

So, the following results can be easily verified.

7. Conclusions.

1. If we take $\theta_n = \frac{P_n}{p_n}$ in Theorems 4.1 and 5.2, then we have a result dealing with $|A, p_n|_k$ summability.
2. If we take $\theta_n = n$ in Theorems 4.1 and 5.2, then we have a result dealing with $|A|_k$ summability.
3. If we take $\theta_n = \frac{P_n}{p_n}$ and $a_{nv} = \frac{p_v}{P_n}$ in Theorems 4.1 and 5.2, then we have Theorems 2.1 and 5.1, respectively.
4. If we take $\theta_n = n$, $a_{nv} = \frac{p_v}{P_n}$ and $p_n = 1$ for all values of n in Theorems 4.1 and 5.2, then we have a new result concerning $|C, 1|_k$ summability.
5. If we take $\theta_n = n$ and $a_{nv} = \frac{p_v}{P_n}$ in Theorems 4.1 and 5.2, then we have $|R, p_n|_k$ summability.

References

1. N. K. Bari, S. B. Stečkin, *Best approximation and differential properties of two conjugate functions*, Trudy Mosk. Mat. Obshch., **5**, 483–522 (1956) (in Russian).
2. H. Bor, *On two summability methods*, Math. Proc. Cambridge Phil. Soc., **97**, 147–149 (1985).
3. H. Bor, *On the relative strength of two absolute summability methods*, Proc. Amer. Math. Soc., **113**, 1009–1012 (1991).
4. H. Bor, *A study on weighted mean summability*, Rend. Circ. Mat. Palermo, **56**, № 2, 198–206 (2007).
5. H. Bor, *On absolute weighted mean summability of infinite series and Fourier series*, Filomat, **30**, 2803–2807 (2016).
6. H. Bor, *Some new results on absolute Riesz summability of infinite series and Fourier series*, Positivity, **20**, № 3, 599–605 (2016).
7. H. Bor, *An application of power increasing sequences to infinite series and Fourier series*, Filomat, **31**, № 6, 1543–1547 (2017).
8. E. Cesàro, *Sur la multiplication des séries*, Bull. Sci. Math., **14**, 114–120 (1890).
9. K. K. Chen, *Functions of bounded variation and the cesaro means of Fourier series*, Acad. Sin. Sci. Record, **1**, 283–289 (1945).
10. T. M. Flett, *On an extension of absolute summability and some theorems of Littlewood and Paley*, Proc. London Math. Soc., **7**, 113–141 (1957).
11. G. H. Hardy, *Divergent series*, Clarendon Press, Oxford (1949).
12. E. Kogbetliantz, *Sur les séries absolument sommables par la méthode des moyennes arithmétiques*, Bull. Sci. Math., **49**, 234–256 (1925).
13. L. Leindler, *A new application of quasi power increasing sequences*, Publ. Math. Debrecen, **58**, 791–796 (2001).
14. H. S. Özarslan, T. Kandefer, *On the relative strength of two absolute summability methods*, J. Comput. Anal. and Appl., **11**, No. 3, 576–583 (2009).
15. M. A. Sargöl, *On the local properties of factored Fourier series*, Appl. and Math. Comput., **216**, 3386–3390 (2010).
16. W. T. Sulaiman, *Inclusion theorems for absolute matrix summability methods of an infinite series*, IV, Indian J. Pure and Appl. Math., **34**, № 11, 1547–1557 (2003).
17. W. T. Sulaiman, *Some new factor theorem for absolute summability*, Demonstr. Math., **46**, № 1, 149–156 (2013).
18. N. Tanovič-Miller, *On strong summability*, Glas. Mat. Ser. III, **14(34)**, 87–97 (1979).
19. Ş. Yıldız, *A new theorem on absolute matrix summability of Fourier series*, Publ. Inst. Math. (N.S.), **102(116)**, 107–111 (2017).
20. Ş. Yıldız, *On absolute matrix summability factors of infinite series and Fourier series*, GU J. Sci., **30**, № 1, 363–370 (2017).
21. Ş. Yıldız, *On the absolute matrix summability factors Fourier series*, Math. Notes, **103**, 297–303 (2018).

Received 18.04.17